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#a%k| 46, 108|[ 109, 396] 53,582] 55,814 -2 =27  -10 64 74 -17] 439] 456 0 121 121
HF—TH 673 1,439 701 738 4 2 -2 0 2 6 9 3 -2 1 3
S TH 556( 1,334 674 660 5 9 1 1 0 8 9 1 0 0 0
FLIL=TH 448[ 1,040 503 537 -5 -2 1 2 1 -3 1 4 0 0 0
SLli&Er| 1,677 3,813] 1,878 1,935 4 9 0 3 3 11 19 8 -2 1 3
B —TH 481 1,014 483 531 2 5 -1 2 3 6 7 1 0 0 0
Sern_TH 753|| 1,841 891 950 -1 -5 -1 1 2 -6 1 7 2 4 2
Sy an—TH 518[| 1,265 619 646 0 3 0 1 1 3 5 2 0 0 0
LN 373 920 444 476 -2 -5 0 1 1 0 1 1 -5 0 5
ey nt ] H 561 1,272 623 649 -1 -5 0 0 0 -1 1 2 -4 0 4
AT 221 492 233 259 -1 -2 -1 0 1 -1 0 1 0 0 0
SerantTH 633[| 1,645 817 828 1 1 1 2 1 -3 3 6 3 3 0
g a/NT H 390 914 452 462 0 -1 0 1 1 -3 0 3 2 4 2
o BILT B 598( 1,469 734 735 1 3 2 2 0 1 1 0 0 0 0
S e gkl 4,528| 10,832 5,296| 5,536 -1 -6 0 10 10 -4 19 23 -2 11 13
ks —TH 330 805 407 398 2 1 1 1 0 1 1 0 -1 1 2
Wk a_TH 940 2,054 1,010| 1,044 6 9 -1 1 2 8 11 3 2 4 2
Wk a=TH 658[ 1,445 699 746 -1 -9 0 0 o -11 4 15 2 2 0
W aaErl 1,928 4,304] 2,116 2,188 7 1 0 2 2 -2 16 18 3 7 4
s Aa—TH 563(| 1,264 623 641 -1 -1 -2 0 2 1 3 2 0 0 0
A _TH 382 926 490 436 -2 2 -1 0 1 2 5 3 1 2 1
s A=TH 238 542 266 276 -2 -7 -1 0 1 -2 0 2 -4 1 5
s AT B 540[[ 1,331 683 648 -2 1 -1 0 1 2 4 2 0 0 0
msEr RAE 1,723 4,063] 2,062 2,001 -7 -5 -5 0 5 3 12 9 -3 3 6
THE0 352 977 425 552 0 1 -1 0 1 2 4 2 0 0 0
HEEIn—TH 151 383 182 201 -2 0 -1 0 1 -1 0 1 2 2 0
EEd T H 414 1,001 477 524 -1 -2 0 0 0 -2 1 3 0 0 0
HEEI=TH 657 1,695 812 883 1 4 0 1 1 -4 4 8 8 8 0
HOEEA T A 710|[ 1,805 881 924 1 -1 -2 1 3 0 5 5 1 3 2
L gUENE 397 951 475 476 -1 -5 0 0 0 -3 0 3 -2 0 2
EEHI ST H 391 949 462 487 0 -1 -1 0 1 0 2 2 0 0 0
eIt T H 634/ 1,454 709 745 -4 -5 -1 0 1 -4 4 8 0 0 0
HOED AR 3,354) 8,238| 3,998] 4,240 -6 -10 -5 2 7 -14 16 30 9 13 4
FOEES| 1,477 3,002| 1,403 1,599 -1 -2 -2 1 3 0 12 12 0 0 0
FEIAR 327 703 355 348 -2 -2 0 0 0 -2 0 2 0 0 0
GBS T 431 946 459 487 -5 -7 1 1 0 -2 6 8 -6 0 6
GEERARR T H 239 506 260 246 1 3 0 0 0 3 5 2 0 0 0
GEERAR =T H 488[ 1,137 570 567 1 6 0 0 0 0 2 2 6 6 0
B Pl T 585( 1,239 583 656 7 9 -3 0 3 8 9 1 4 4 0
GEERAR T T H 198 512 247 265 -2 -5 0 0 0 0 0 0 -5 0 5
EESah A 1,941 4,340 2,119 2,221 2 6 -2 1 3 9 22 13 -1 10 11
BRI T 659 1,404 674 730 2 0 -1 0 1 2 8 6 -1 0 1
GEERAANT T H 647| 1,335 637 698 2 2 0 0 0 1 5 4 1 1 0
EEROARTASE| 1,308 2,739 1,311] 1,428 4 2 -1 0 1 3 13 10 0 1 1
IR 315 882 496 386 -2 -3 1 1 0 -4 4 0 0 0
HHPR—-TH 694/ 1,686 839 847 -1 3 3 3 0 2 6 -2 0 2
WPR =T H| 1,508 3,657| 1,806] 1,851 13 14 0 3 3 19 26 7 -5 0 5
HPR=TH 813l 2,175 1,066| 1,109 -4 -5 -2 1 3 -4 1 5 1 2 1
HHPRMNTH 490 1,207 582 625 0 2 -2 1 3 4 10 6 0 0 0
HPIRAE3,505[ 8,725 4,293 4,432 8 14 -1 8 9 21 45 24 -6 2 8
AHR-TH 644 1,576 771 805 3 6 0 0 0 6 2 0 0 0
JHR_TH 864  2,219] 1,090| 1,129 0 -7 -2 0 2 -3 5 -2 5 7
AHR=TH 435 954 497 457 -1 6 0 0 0 0 2 6 9 3
JbdRAEH 1,943 4,749 2,358 2,391 2 5 -2 0 2 3 12 9 4 14 10
H R 317 801 381 420 -1 -5 0 0 0 3 4 1 -8 0 8
W 1,577 4,956] 2,264 2,692 8 -4 -1 2 3 -4 12 16 1 1 0
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e T H 778 1,871 925 946 2 -1 0 1 1 -1 5 1 1
FwE _TH 698[ 1,873 959 914 5 7 1 2 1 6 7 1 1
FHE=TH 622 1,567 784 783 -2 -6 -2 1 3 -2 1 0 2
FMEM T H 872l 2,174 1,068| 1,106 -4 -6 -1 0 1 -5 1 2 2
FVERT H 584 1,412 692 720 -2 -8 2 2 0 -7 6 0 3
FREANTH 408[ 1,036 196 540 4 2 0 0 0 -2 0 4 0
mEaE| 3,962 9,933 4,924| 5,009 3l -12 0 6 6| -11 20 8 9
L 495( 1,123 550 573 -1 -3 0 0 0 0 3 0 3
H—T H 324 693 340 353 -1 0 0 0 0 0 0 0
=T H 583(| 1,342 655 687 -3 -5 0 0 0 -5 1 1
A2 907[| 2,035 995 1,040 —4 -5 0 0 0 -5 1 1
El—TH 328 706 380 326 4 6 1 1 0 3 104 3 1
= _TH 647|| 1,391 678 713 -8|  -10 -1 1 2 -7 0 0 2
EH=TH 396 1,015 516 499 0 0 3 3 0 0 0 0 3
waEr 1,371 3, 112] 1,574 1,538 —4 —4 5 2 4| 104 3 6
HE-T 8 382/ 1,020 488 532 0 —4 -1 0 1 -1 0 0 2
WHE T H 419 1,072 526 546 —4 -6 -1 0 1 -3 2 2 4
s =TH 759 1,959 993 966 -1 1 0 3 3 -2 5 3 0
HHENT A 450 1,045 498 547 0 -2 -1 0 1 -1 0 0 0
WHE T A 725l 1,662 809 853 -2 -9 -1 1 2 -5 1 0 3
s AT 222 486 250 236 1 1 0 1 1 1 1 0 0
WEASH 2,957| 7,244 3 564| 3,680 -6|  -19 —4 5 ol  -11 9 5 9
<HEL—TH 613| 1,452 714 738 0 0 1 2 1 1 7 6 0 2
<MEIZTH 698[| 1,536 759 777 3 1 1 1 0 0 5 5 0 0
<MEIN=TH 513 1,179 588 591 0 -1 0 0 0 -1 2 3 0 0
<HENTH 499( 1,121 566 555 -1 0 0 0 1 4 3 3 3
e 358 787 439 348 -1 0 1 1 0 -2 3 5 1 0
<X AE 2,681 6,075 3,066 3,009 1 3 4 1 -1 21 4 5
PEARIT—TH 788|[ 1,720 861 859 -3 -1 1 3 2 -2 7 9 3 3
WIEARIT —TH 431 1,089 542 547 -1 -2 0 0 0 -2 3 0 0
WEANTESE 1,219 2,809 1,403 1,406 —4 -3 1 3 2 —4 3 3
we 450 858 430 428 -3 1 -1 0 1 —4 8 2
ka1 H 981|| 1,635 726 909 —6 -9 0 0 0 -6 12 0 3
kAT H 392 668 312 356 7 11 3 3 0 7 11 4 1 0
ok n=TH 609 1,678 783 895 -1 1 1 1 0 —4 2 6 4 0
ke AT H 373 803 387 416 -5 -2 2 2 0 —4 1 5 1 1
sk aaEr| 2,355 4,784 2 208 2,576 -5 1 6 6 0 -7 26 33 6 4
SRR T 20 59 31 28 0 0 0 0 0 0 0 0 0 0
g 766| 1,831 890 941 2 6 0 1 1 9 10 1 4 7
R 277 669 324 345 0 0 0 0 0 0 0 0 0
PR — T H 406[ 1,085 554 531 3 6 1 1 0 1 3 4 4 0
R =T H 358 848 420 428 4 10 0 1 1 4 2 6 6 0
H R A B 764 1,934 974 960 7 17 2 2 0 5 10 5 10 0
PR — T 614f 1,365 688 677 -1 -3 0 1 1 -3 9 0 4 4
PEEER T A 493(l 1,217 576 641 4 4 0 0 0 4 2 0 0 0
v mAE 1,107 2,582| 1,264| 1,318 3 0 1 1 1 12 11 0 4 4
Ve R 284 666 332 334 -5 -8 -1 0 1 -9 9 2 2 0
[ SIR/N 223 559 298 261 -1 0 1 1 0 -1 3 0 0 0




